

$f(x) = \sqrt{1-x^2}$       $f(x) = \{(0,0), (-1,0), (1,0)\}$   
 $1-x^2 \geq 0$       $2g = \{(-1,2), (0,1), (1,4)\}$   
 $x^2 \leq 1$       $3f = \{(-1,0), (0,3), (1,0)\}$       $2\omega + \epsilon = \boxed{11}$   
 $x \leq \pm 1$       $2g - 3f = \{(-1,2), (0,0), (1,4)\} \rightarrow R = \{2, 0, 4\}$   
 $D_f = [-1, 1]$

$f(\omega) = \omega \rightarrow R = [\omega, +\infty)$   
 $g(\omega) = \omega \rightarrow R = (-\infty, \omega]$   
 $R = (-\infty, \omega] \cup [\omega, +\infty)$

$-\frac{x^2}{2} + 2x + 3 \xrightarrow{x^2} -x^2 + 4x + 6$   
 $y = -x^2 + 4x + 6$       $\begin{cases} x_{max} = \frac{-b}{2a} = -1 \\ g_{max} = 5 \end{cases} \rightarrow (-\infty, 5] \xrightarrow{(x,y)} > \frac{3}{2} \quad (\frac{3}{2}, 1)$   
 $\sqrt{1 - \frac{\omega}{2}} = \sqrt{\frac{11}{2}}$

$|2x - 5| = 2|x - 2|$       $y = |x-1| + |x-3| + 2|x-2|$       $\text{ming } \epsilon = 2$   

$x < 1$ $ x-1  = 1-x$ $ x-2  = 2-x$ $ x-3  = 3-x$ $\downarrow$ $1-5x \xrightarrow{x=1} \epsilon$	$1 \leq x < 2$ $ x-1  = x-1$ $ x-3  = 3-x$ $ x-2  = 2-x$ $\downarrow$ $4-2x \xrightarrow{x=1} \epsilon$	$2 \leq x < 3$ $ x-1  = x-1$ $ x-3  = 3-x$ $ x-2  = x-2$ $\downarrow$ $2x-2 \xrightarrow{x=2} \epsilon$
$x \geq 3$ $ x-1  = x-1$ $ x-3  = x-3$ $ x-2  = x-2$ $\downarrow$ $3x-1 \xrightarrow{x=3} \epsilon$		

5

$$\frac{x^y + \omega x + m}{x+1} = x + \frac{m-f}{x-1} \rightarrow = 0$$

$$m = f \rightarrow \mathbb{R}^{\text{min}} \text{ (Grenze) } \mathbb{R}^{\text{max}} \text{ (Grenze)}$$

f

$$f(x) = x + y \rightarrow x \geq y \rightarrow R = [y, +\infty)$$

$$f(x) = x^y - yx + y \rightarrow 0 \leq x < y \rightarrow (x-1)^y + 1 \rightarrow R = [1, y)$$

$$f(x) = |x| + y = -x + y \quad x < 0 \rightarrow R = (y, +\infty)$$

$$[y, +\infty) \cup [1, y) \cup (y, +\infty) = [1, +\infty)$$

y

$$x^y + \varepsilon x + y = (x+y)(x+1)$$

$$\omega_1 = x - y$$

$$f(-y) = \varepsilon - 1 + y = -1 \rightarrow y_{\min}$$

$$[y, x] - yx$$

$$\cancel{[y, x] - yx}$$

$$n \leq yx < n+1$$

$$f(x) = n - yx$$

$$R = [-1, +\infty)$$

$$R = [-1, 0)$$

$$R = [-1, +\infty)$$

A

$$yx + y \geq 0 \quad yx \geq -y \quad x \geq -\frac{y}{y} \quad D = \left[-\frac{y}{y}, +\infty\right) \quad b = -\frac{y}{y}$$

$$(-\infty, a+1] = (-\infty, a]$$

$$a = y$$

$$f\left(-\frac{y}{y}\right) = -y$$

y

$$\begin{aligned} x+1 &\geq 0 \rightarrow x \geq -1 \\ -x+1 &\geq 0 \rightarrow x \leq 1 \\ 1-x^y &\geq 0 \rightarrow x^y \leq 1 \rightarrow -1 \leq x \leq 1 \\ y + y\sqrt{1-x^y} &\geq 0 \quad y\sqrt{1-x^y} \geq -y \\ \sqrt{1-x^y} &\geq -1 \quad 1-x^y \geq -1 \\ x^y &\leq y \rightarrow -\sqrt{y} \leq x \leq \sqrt{y} \end{aligned}$$

$$Dg = Df = [-1, 1]$$

$$g(x) = y\sqrt{y+y}\sqrt{1-x^y} - f(x)$$

$$y = \frac{f}{y} - \frac{A-f}{y} = \frac{f}{y} - \frac{A}{y} + \frac{f}{y} = \frac{f}{y} - \frac{A}{y}$$

$$\sqrt{x+1} + y\sqrt{1-x} - \sqrt{y-\frac{y}{y}}\sqrt{1-x^y} = -1 \leq x \leq 1$$

1.